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6.2.1.1
Referencing fields of a record type

Elements of a record shall be referenced by the dot notation TypeOrValueId.ElementId, where TypeOrValueId resolves to the name of a structured type or variable. ElementId shall resolve to the name of a field in a structured type. Fields of record type definitions shall not reference themselves.

EXAMPLE 1:


MyVar1 := MyRecord1.myElement1;


// If a record is nested within another type then the reference may look like this 


MyVar2 := MyRecord1.myElement1.myElement2;


EXAMPLE 2:


type record MyType 


{




integer
field1,



MyType.field2
field2
optional, // this circular reference is NOT ALLOWED


boolean
field3

}

6.2.2.1
Referencing fields of a set type

Elements of a set shall be referenced by the dot notation (see clause 6.2.1.1). Elements of set type definitions shall not reference themselves.
EXAMPLE:


MyVar3 := MySet1.myElement1;


// If a set is nested in another type then the reference may look like this 


MyVar4 := MyRecord1.myElement1.myElement2;


// Note, that the set type, of which the field with the identifier 'myElement2' is referenced,   

 // is embedded in a record type

6.2.5.1
Referencing fields of a union type

Fields of a union type shall be referenced by the dot notation (see clause 6.2.1.1). Fields of union type definitions shall not reference themselves.
EXAMPLE:

MyVar5 := MyUnion1.myChoice1;


// If a union type is nested in another type then the reference may look like this 


MyVar6 := MyRecord1.myElement1.myChoice2;

// Note, that the union type, of which the field with the identifier 'myChoice2' is referenced,


// is embedded in a record type












































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































�Requirement moved before the examples. Just to avoid that requirement is overlooked in between the examples.





ETSI

